CALCULUS 11 QUIZ VIII MATH-UA.0122-007 |

Name:

Write your solutions in steps. You need to provide explanations to your answer.
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A parametric curve is given by (5 — 1+ 5, + 2).
1. (2.5 points) Find the tangent line of the curve at (0, 3).

)
2. (2.5 points) Compute the arc length of the curve between (2, 2) and (0, 3).

3. (2.5 points) Compute the area bounded between the curve and z-axis on the
“interval 0 <z < %

4. (2.5 points) Find the point of intersection of this curve with the parametric
curve (t + 1 ¢+ 2). .
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So the mtersecton ¢ (-3, 1+2)=(2, 3)



